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Спектральное разрешение
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Моделирование спектра
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“Микроокна “прозрачности
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Угловое распределение
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Обратная задача восстановление 
оптической толщи



Регуляризованное решение
• Bv(ττττ) = В0 −−−− bττττ/ττττ* + ΣΣΣΣ

к
ck sin kπτπτπτπτ/ττττ*   

•

• ττττw=0.2468;   ττττa=0.20;       ττττ* =0,4468;   

• ττττ0= 0.435;     ττττ′′′′
a = 0,188;

• ∆τ∆τ∆τ∆τ∗∗∗∗
0 = (ττττ0 - ττττ*)/ ττττ*= 0,026;   

• ∆τ∆τ∆τ∆τ′′′′
a = 1- (ττττ0 -ττττw )/ττττa =0,059 

• σσσσI =0,41 мвт/м2стрcм-1

• σσσσ′′′′
I = σσσσI / I(m=1) = 1.5*10-3 .


